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Sectidn A

(30 marks)

1. In7408,thedigitOisinthe . place.

1) ‘ones
‘2) tens -
3y hundreds

4)  thousands
2. Which of the following has the largest value?

1) 36636
2} 56+7 =3
4 e3ea=7

. 5
3. 'Which fraction is equivalentto — 25 s
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Find the total of the values o’f‘the:jdjigitf;4’:ins¥tﬁ250%aﬂd}3420?' .
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‘7. Whatis the ?idfa‘l: volume of the water in the 2 containers below?

1) 2300ml
2) 2600 ml
3
4y

1
2)

e
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9. Look atthe ﬁgures below Which of the following statement is true?

1cm
!:::::q

[ i T & E: : ! =S g & ! i
1 .p kY E \ 3 2 H ¥ o t 1 cm
- - : S £

1
AL
4
¥
3

»

1)
2
3) _
4) : F‘:gure Chasthe greatest penmeter

10. Luke had 1092 stickers. ‘He had 157 fower stickers than Bobby: How many

1y 1249
2 2021
3 2184
4 - 234

jll and ran the sarne distsince down the hill. He then ran

ling the campsite. How far did he run altogether?

4) Tkm 610 m
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12. The graph below shows the amount of time Kumar spent on revising for his

13.

Time (in minutes)

s B
o

1)
2
3)

4)

- N9
o O e

Mother To

;suhjec't,Name -

How much time did Kurmar spend revising for Mother Torigue and Mathematics?

135 min

Lewis worked from 9.50 a.m ta 5,30 p.m. on Monday. He had a lunchbreak
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14. Joey packed the cookies into'6 bags. Each bag has an equal number of
cookies. There were 3sweetsleft after packing. The total numberofmets is
between 50 and 55. How many cookies did Joey have?

1y 5
2) . 52
3 53

4 . 54

15

2 sm

3 $490
4y $5.30

46. The massof a durian is: 1080" g The cubes on both sides of the: pan are of
:.equal mass. What is the mass of each cube?

3)

Bane KT oEAR



17.

2)
4y

2,05 p.m.
5.05 pm.

:Jonathan 's watch showed. 3. 35 pan. when he: completed his homework. He

ook 1 h'45 min'to complet !
the actua ;me What was the actual time when' Jonathan started doing his

homework? .

) "mework Hxs watch was 15 min faster than

Fad

End of Booklet A
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Auglo-Qlinese Selyal (Juiar)

SEMESTRAL ASSESSMENT 2 (2022)
PRIMARY 3.
" MATHEMATICS
“Booklet B

Tuesday 1 November 2022 © 1 h 45 min

Name:__ . . .. . ) Class3( ) ParentsSignature: .

INSTRUCTIONS TO PUPILS
1 Do nottumover thepages until you are told to do so.
2 Foliow all instructions carefully.

2
3 There are 23:questions in
4. Answer ALL.questions.

T Fossible | Marks
Marks | Obtained |

Section




- SectionB

Questlons 18 to 21 cany 1 mark each Questmns 22 to 34 cany 2 marks each.

. (30 marks)

-18.  Write 6 thousands and 45 ones in numerals.

19. 'When 685 is divided by 7, the remainderis

FAVA “ingd the value of =+ =,
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21, Find the afea of the rectangle below..

22, Find the value in the box.

LN
4
Ol

43;  Which two of the following fractions are greater than - 2

ooy
I

8 o]
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24. fStud){;_fhe pattem below.’ Wﬁatgisﬁtk}eimigsing,number?' :

7834, 7824, 7814, ... 77194

£
Y

25, The diagram below shows a pineapple and a bunch of bananas-on a
wexghmg scale The meapp!e wetghs 1&&0 g What is the mass of the
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26.

27.

Number of Fruits.

Gavin and Jia Hao saved a total of $17

much di

Jia Hao save?

£

How many more orang

e Apmes -

Oranges Pears

Sub-Total : |




28:  Qian Wei had 94 sweets. Ravi had 24 fewer sweets than Qian Wei, Lena
‘had 60 more sweets thah Ravi. - Haw' ‘many sweets did Lena have?

travelli e between Town Aand Town B is;2 hours and 43 mmutes
Aman started hls pumey at 1 1 A5 am. from Town. A to Town B. ‘At what
ttme did he amive in Town B?

p.m.;

g T—
30. Adress cost $84. Thesdress costy 3 times as MUCH asa shirt. How much
daes the dress and shirt cost altogether?
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32.

va)' In*thésquare-‘gﬁdvbelew wﬁi"‘ch"line is p’e"rpendic’idar to line. AB'>

pmnt .G. )

.Each ;studentg reoewed 6 :
chocolates were there in each packet’?

Page BT of 14

Sub-Total : |
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points.

i ,_*and Say Jeong had a total soore of 844Aat a Scxence competct;on Xu -

om |

Sub-Total :




: S '“ually into. ;boxes of 3 Haw mény -boxes of strawberry mufﬁns
Iwere there‘? :

FaL1—— 1)
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na gam tpoints, GroupB soared,?.&ghmmts fewer
‘.t han ﬁmy A C—.‘;mupxC smred@: mgs as.many points as-Group.B. What
was the number of points scored by Group.C?
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Singh bought some highlighters. She received 6 pens free for every 60
ighters bought. She reaemed 48 pens. How many highlighters did she

Page B11of 14 Sub-Total : |




‘38, Small and large packets of sweets were sold at a supermarket. A small

packet of sweets cost $3 and a large packet cost $4. A total of $96 was
collected from the sale of the small packets of sweets.

&) How many small packets of sweets were sold?

b) 15 iore small packets of sweets were sold than the large packets of

sweets. How much was collected from the sale of the large packets of
sweets?
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39.

-'Peter‘had a total of 192 blueberry*choaolate and vamlla cupcakes He

(a)

(b} Howmany chocolate cupcakes did Peter have?

Ansi@) .. . [

() I
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- 40.

The.

in the library were placed on 30 shelves Wlth an equal number

of baoks of ' each shelf

'3 shelves,_were remave__d and the books cn these shelves were piaced on

End of Baoklet B
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. EXAM PAPER 2022
. LEVEL 2 ?RIMARY?, | e
e SCHOOL o ANGLO-CHINESE SSHOOL (JUNKDR)
S SUB\’ECT e MATHEMAT‘CS i
~ TERM _SEMESTRAL Assesmsm 2

RTENK-
Q11| 2 | Q12

R Q16 3 Q17
- BOOKLETB

Q8 | 2 | Q9| 3 |Q10] 4
Q13| 1 Q14| 1 1Q15] 1

NI

. Q18. 6045

. Q19. 6

Q0. 9/12 o

. Q21. 84sqcm

Q22. 4/9

Q23. 5/8, 6/11

. Q4. 7804

- Q26. ¢




b)

Q32.
Q33.
Q34.
Q35.
Q36.
Q37.

Q38.

Q39.

Q4o0.

18

359

46 cm

35

27%5=135
135+3=45






